tochometer

JI N koso radar series HI ’ ~ S TR U c T’ o~

Thank you for purchasing "KOSO radar series tochometer",led night-back-lighted, multi-function in one. easy-wiring. clear-controlling and
easy-using.

A\ Notice

1.The Icd meter is apply for DC 12V.

2.For installation, please follow the steps described in manual. Any damage caused by wrong installation shall be imputed fo the users.
3.To avoid the short circuit, please don't pull the wire when installing. Don't break or modify the wire terminal.

4.Do not disassemble or change any parts excluding the manual descriptfion.

5.The interior examination or maintenance should be executed by our professionals.

MARK MEANING:

[\Y[eY /5 You could gef the insfallafion defails from the informafion behind the mark. | B m
/\ Some processes must be followed fo avoid the affecfion caused by wrong installafion. |

ENTZV:VIINEY] Some processes must be followed fo avold damages fo yourself or fhe public. U ST e RRESS THE

CAUTIONY Some processes mus? be followed fo avoid The damage fo The vehicle. | SECONDS

1 Accessory

Yl LCD meter X 1 A \eter mai nwire set X 1 K RPM wire set (Type A) X 1

" —— — ' ¢ (@

— S (=
Iy 7emp sensor wire set X 1 6 S'D errzs/grv‘f;er femp YAl Connect terminal X 3

e | | B
L

2Bl RP\V1 wire set (Type B) X 1

befl Bracket X 1

|

Y Waber washer X 2

[o8 Aluminium bush X 1 Y K| U-type bracket X 1

\

=

[\Y[eY[d Please contact the local distributor if the items you open are not the same, with the above-listed one.

@'@'

@'

2 Wiring installation instructions

;
:

£

}]:u;?ed [ posfive pole (Connect fo the baffery DC 12V)}—

[Meter main wire sef (Accessory 2)]
—]U-fype bracket (Accessory 11)]

N = —

Brown/ "+"wire connect key on
DC 12V main power switch

Black/ ground wire connect fo the vehicle body or
the engine (It must be a good ground)

\\

> BEr—S—15 El:lﬁt{ WJ
» _ » Main switch wiring reference:
[LCD metfer [Accessory 1] [Temp sensor wire (Accessory 9] T Color " Color
| PT1/8 (Accessory 6) please install the temp YAMAHA Brown Black
sensor to the position you want to measure HONDA Brown Black
/—| Bracket [Accessory 8] r_— SUZUKI Black Green
SYM Black Green

[The ignifion coll posifive elecfrode] 9 [M[el13 T color sied above may differ

depending on the model.

ALTERNATIVE 2

Cylinder
head
temp sensor
m10.m14 m/m.

OV n14.m16.m18.
2 m22.m26 mim

[RPM wire set-fype B (accessory 4] |

whb51ba015



ALTERNATIVE

/\ We provide 2 ways fo gef the rom signal-sensor a &sensor b. Tf there are inferrupfions, you could change
the sensor wiring to get better signal.

CAUTIONY Just wrap the RPM wire [A) around the spark plug wire. Do not connect them! We also

suggest you fo replace the "R" type spark plug in the mean time to get better signal. 55m/m
For the model more than one piston, please catch the signal from the first cylinder coil wire. meter
For the model with more than one piston, please just connect the rom sensor wiring to one bracket

of the ignition coil positive electrodes.
s«Please make sure that the ignition coil positive electrode before connecting the RPM
sensor wiring! Wrong installation will cause the meter broken!

[\'[e)i3d We aiso provide diffent size temp sensor and adaptor M10X 1.0/ M12X 1.5/ M14X 1.25 [ M14X 1.5/
M16 X 1.5/ M18 X 1.5 for choosing.

3 Instruction of function

Tachometer £ £
@Display range: 0~16500 RPM. = =
@Display unit: 100 RPM. Temperafure nuif swifch LrE) é

in main screen, press the le—>| 0 pel
Temperature . . mode button 1o T Q Q
@Display range: 0~150 °C (32~302 F). Olfernate G with F i !

@Display unit: 0.1 °C (°F).

—~3 \ 3
‘/; : :\I/
tl"\ )

X1000r/min

\|w/g 75—
115 =
~
Z N
3

O

In main screen, Press EX. we WW set the Press set button fo enter ~ Press mode button 3 Press set button, to
THE SET & MODE button stroke as 4 sfroke 4 the piston setting screen. times, to choose the back the main screen.
for 3 seconds to enter piston. press mode pistons setting.

the STROKE SETTING button fgli%%sg the

SCREEN. stroke wi . ' : /\ Now 1P (The number you

tfo set) & RPM is
now 2C (The number you want
want to set) & RPM is flashing.

flashing. g gy,

@Make sure the correct strokes and pistons before setting.

@Make sure the input is correct, or the RPM output will be incorrect.

e @We define the engine with the ignition system ignites every 360 degree as 2-sfroke and the engine with the ignition
systemn ignites every 720 degree as 4-stroke.

@Some 4-stroke bikes with one single piston are igniting 360 degree once, so the setting should be the same as the
bike with 2-stroke and one piston engine.

@2-stroke pistons are 1,2,3,4. 4-stroke pistons are 1,2,3,4,5,6,8,10,12.

Main screen.

wh551ba015



